CLASS : 10th (Secondary) Code No. 4803
Series : Sec. M/2020

Roll No. SET : A
o

MATHEMATICS
(Academic/Open)
[ &=t Tg SIS AT |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

TIT 3 g7 | [ §% : 80

Time allowed : 3 hours | [ Maximum Marks : 80

o FU g I T fF 3T FeT9F T FRT g 16 T
797 32 81
Please make sure that the printed pages in this

question paper are 16 in number and it contains
32 questions.

o Jo7-UF H e & # 3T /9 T8 FE TR oI G #H
B V-Gl & JE-J U7 g
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.

o ZYY o7 F TV [0GT & FT G GEl, HT FH HHE
ST [1E]

Before beginning to answer a question, its Serial
Number must be written.
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(2) 4803/(Set : A)
o FTCYRTHE % T 7 @l g/ 9 T 881

Don’t leave blank page/pages in your answer-book.

o JUTyRTHE % GfaRFT #F o dic TE Al o
STETETFE & [E SiT forar Fav 7 e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

o GRS YT T To FIT-GF YT HFT [or@)

Candidates must write their Roll Number on the
question paper.

o YUY J97 F FT 37 @ {4 I8 GvEd B T [ JeTGH
g7 g @& 8, T # W 39 g9 7 FE 0 amr
@B T8 BT A

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

G F3sT
General Instruction :
() &H 7T a8
All questions are compulsory.
(i) 5 997-97 4 F7 32 §o7 & ol [ G 7] I
F§TINTHICTE -
This question paper consists of 32 questions

in all which are divided into four Sections :
A B CandD:
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(3)  4803/(Set: A)

G &5 GF F1 716 7% ZT 16 F97 &,
g% F97 1 3% & &1

Section A : There are 16 questions from 1
to 16, each of 1 mark.

G §: 357 % F17 §21 T 375 J97 &,
JR% 797 3 9% F &

Section B : There are 5 questions from 17
to 21, each of 3 marks.

G T : 39 G 522 §27 T FT 6 F97 &,
T9% 797 & 5% T &1

Section C : There are 6 questions from 22
to 27, each of 4 marks.

G 737 % 428 @32 T FT 5 F97 8,
J9% J97 5 31F # 81

Section D : There are 5 questions from 28
to 32, each of 5 marks.

(i) @9 § T & go7i 7 oyi® Rwey [T 1@ &
37 @ Q& 797 & T 81

Section D contains two questions where
internal choice have been provided. You

have to choose one of them.
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(4)  4803/(Set: A)
gus - A
SECTION - A

1. o.375a%§%wﬁaaaa%m| 1

Express 0.375 in the form g

2. 6x%-7x-3% JIF ¢ : 1
1 3
A) -, =2
(A) 3’ 5
7 3
® -5, -
3 6
7 3
© % -=
6 6
(D) = 9 HE 7@l
The zeroes of 6x2 —7x—3 are :
1 3
A -=, =2
(A) 3’
7 3
® -5, -
3 6
7 3
< - —=
6 6

(D) None of these

4803/(Set : A)
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(5)  4803/(Set: A)

3. x+y=14, x—y=4 ¥ & HIT| 1
Solve :
x+y=14, x-y=4

4. HE-G @ 0 A P. B ? 1
A) 2,4,8,12, .......
(B) 0.2,0.22,0.222, ......
(C) -10,-6,-2,2, ......
(D) 1,3,9,27, ...

A) 2,4,8,12, .......

(B) 0.2,0.22, 0.222, .....

(D) 1,3,9,27, ...

5. 2,7, 12, ...... .A.P. & 103 U% 3G HioT 1

Find the 10th term of A. P. 2, 7, 12, ...... .

6. HICH H RU =i § | T& AKT H T HA 8, R

WM AR 1
NG e B Bl (qatTam, qeem)
4803/(Set : A) P.T.O.

http://www.bsehonline.com



(6)  4803/(Set: A)

Fill in the blank using correct word given in

bracket :

All circles are ............ . (congruent, similar)

7. & TIEY DS H YERT # UG 4 : 9 ', A I

BTl Bl STU & 1
(A) 16:81 (B) 8:18
(C) 81:16 (D) 12:27

Sides of two similar triangles are in the ratio 4 : 9.

Areas of their triangles are in the ratio :
(A) 16:81 B) 8:18

(C) 81:16 (D) 12:27

8. A A THEY By & &wd HAT: 36 W2 @R
121 412 8, @ ITh HIG eI H I © 1

A) 11:6
B) 6:11
(€ 9:11
(D) & @ FHig T
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(7)  4803/(Set: A)

If the areas of two similar triangles are 36 m?
and 121m? respectively, the ratio of there
corresponding sides is :

(A) 11:06 B) 6:11
(C) 9:11 (D) None of these

9. Uh fg O 8 Th g0 W Wl 1@ Hl Teg 24 Ji e
Q # F= | 30 25 T &1 gq @ Brewr 7 Him@ 1

From a point Q, the length of tangent to a circle
is 24 cm and distance of Q from centre is 25

cm. Find the radius of circle.

10. (2, 3) ¥R (4, 1) forgell & 9= & g4 o9 #o@ 1

Find the distance between the points (2, 3) and
(4, 1).

11. 3R YE@Ese @ 77 g (3, 4) ¢ Fw & RW
(7,-2) B, @ TR R &1 FRai® &5 7@ @ 1

If (3, 4) is mid point of the line segment whose
one end is (7, —2), then find the coordinates of

the other end point.
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(8)  4803/(Set: A)

tan65°

12. & {5 it 1
cot25°
Find the value of tan 65 .
cot25°
13. ZlﬁsinA:%,ﬁfcosA%I 1
4 J7
(A) 77 B —
7 4
3 .
c) — D 9 g el
© & (D) & q ®
) 3 )
If sinA :Z’ then cos Ais :
4 J7
A) — B —
J7 4
(C) 3 (D) None of these
J7

14. B 4 99 9@ O g9 @ BrouEs @ and S
BT, ST BT 30° 1 (7 = 3.14 T TN FIdM) 1

Find the area of a sector of a circle with radius

4 cm, if angle of the sector is 30°. (Use n = 3.14)

4803/(Set : A)
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(9) 4803/(Set : A)
15. T ST B STER H A 2r § a1 3@ SHas h

Tl T T SAE | 1
A)  nr’h

(B) 2nrh

(C) 2mr(r+h

(D) = & HE T

The diameter of the base of right circular
cylinder is 2r and its height is h. The curved

surface area is :

A)  nrlh
(B) 2nrh
(C) 2mr(r+h

(D) None of these

16. UH 9@ § 3 Tl g, 2 g%e AT IR 4 I g &1 IR
% & I agRes Pl T R, O 5o qoe em
%l wieeaT @ B ? 1

A bag contains 3 blue balls, 2 white balls and 4
red balls. If one ball is taken out at random from
the bag. What is the probability that it will be
White ?
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(10) 4803/(Set : A)
gus - §
SECTION - B

17. [s HINT % V2 TF oAy e R 3

Prove that \/5 is an irrational number.

18. W plx)=3x° +x2 +2x+5 TR
gx)=x>+2x+1 & W 9F FOT IqOHA SR
AYERS FTT BISTTY 3

Divide the polynomial p(x)= 3x3 +x%+2x+5
by the polynomial q(x)zx2 +2x+1. Find the

quotient and remainder.

19. 90 W H TR A TH dSh 9« @ T TN &
AR A W 1.2 Hi/F. A 9 § 90 W Bl IR s«
90 & 3.6 W1 # TR W B, A 4 GF°S & 39 qSH
P BT B qE ST BT 3

A girl of height 90 cm is walking away from the
base of a lamp-post at a speed of 1.2 m/s. If the
lamp is 3.6 m above the ground, find the length

of her shadow after 4 seconds.

20. g FifW : 3

seC A(l —sin A) (secA+tan A) =1
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21.

22.

23.

(11) 4803/(Set : A)

Prove that :

seCc A(l —sin A) (secA+tan A) =1

I B R S P oTee 8%d 6.16 9281 3

Find the circumference of a circle whose area is

6.16 cm?.
gE -4
SECTION -C

& BN 4
5 1 a6 3

+ = —_—

x-1 y-2 x-1 y-2

Solve :

5 1 6 3
_+_

x-1 y-2 x-1 y-2

Th Hed-aie, frEs o) o § o 18 fp/ave E,
24 T l 90 &% Widee SN H, 9@ g0 4R % TR
M @ oem 1 ger offYe ol B T A S
I 4
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24.

25.

26.

27.

(12) 4803/(Set : A)

The speed of motor-boat is 18 km/h in still
water. It takes one hour more to 24 km
upstream than to return downstream the same

distance. Find the speed of the stream.

A. P.: 24, 21, 18, ...... % fhaq ug R wE, qife
I AT 78 7 4

How many terms of A. P. : 24, 21, 18, ......

should be taken so that their sum is 78 ?

el T farg & g9 W diE T wst el @ arar
T B 8, fas Aty 4

Prove that the length of tangents drawn from an

external point to a circle are equal.

g (-4, 6), geTt A(-6, 10) 3R B(3, -8) & e
il Y@rEvS H U A e war B 4
In what ratio does the point (-4, 6) divides the
line segment joining the points A(-6, 10) and
B(3, -8).

3 TR § Bl T3 52 T b U TgS H | T Il
frepre ST 31 WReRaT S FINTE fF ¥E W O() T
TFRT BT, (ii) T AT <Tel &I 4
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gug - T
SECTION-D
28. T & & & f § FHE 2x2 -5x+3=0 &
& i1 5
Solve the equation 2x2 -5x+3=0 by
completing the square method.
29. 4 AW, 5 ¥ SR 6 THI oSN A TH BT B @
F IR X 6% @9eq & o BIgS & @A
o . 2
Eﬁliﬁ%mﬁwﬁq:@%@ﬁaﬁwwﬁaﬁg
T 5
Construct a triangle whose sides are 4 cm, 5 cm
and 6 cm and construct a similar triangle whose
sides are %th of the corresponding sides of
given triangle.
30. &= #IfeTC : 5
sin0+cos0-1 1
sinf-cosf8+1 secO+tanf
4803/(Set : A) P.T.O.
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One card is drawn from a well-shuffled deck of
52 cards. Calculate the probability that the card

will (i) be an ace, (ii) not be an ace.
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(14) 4803/(Set : A)

Prove that :

sin0+cos0-1 1
sinO-cos0+1 secO+tanO

AYqT
OR

1.2 #f & ©F dEH g § 88.2 W H FAE W TH
Afcet 3@m § g 4 3% W TER & ae 8l fed A
BT ASH B A § TEAR B ST BT 60° H ol
HE G q& IAT BT HEHT 30° @ I Bl W
A & ARH R B T B T gU F e

A 1.2 m tall girl spots a balloon moving with the

wind in a horizontal line at a height of 88.2 m
from the ground. The angle of elevation of the
balloon from the eyes of the girl at any instant is
60°. After some time, the angle of elevation
reduces to 30°. Find the distance travelled by

the balloon during the interval.

a oL, B A Ud% B AT 64 AU B, & Hore
il B AT T SS90 ST 81 399 WS g
H TN SAEA G BT 5
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(15)  4803/(Set : A)

Two cubes each of volume 64cm3

are joined
end to end. Find the surface area of the resulting

cuboid.

32. 1 far go deT Uh w1 % 30 fanidd & AR aw
@ R feni¥iEt @ wrere W) S iR 5

AR (fFommo #)|40-45|45-50|50-55|55-60 | 60-65 | 65-70|70-75
fenfeil & | 2 3 8 6 6 3 2
e

The distribution below gives the weight of 30
students of a class. Find the median weight of

the students :

Weight (in kg) | 40-45 | 45-50 | 50-55 | 55-60 | 60-65 | 65-70 | 70-75

Number of 2 3 8 6 6 3 2
Students
T
OR
frdl Hiecd & 25 TRART # Ao W Y e 2
Ao W gAT WA I A HioT

g (§o #) |100-150|150-200/200-250|250-300|300-350
et & gen 4 5 12 2 2
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(

16)

4803/(Set : A)

The table below shows daily expenditure on food

of 25 households in a locality. Find the mean

daily expenditure :

Expenditure (in Rs.)

100-150

150-200

200-250

250-300

300-350

No. of households

4

5

12

2

2
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